Ky
Acid #4 ‘/7

1. What is the concentration of a NaOH solution when 30 mL of 0.50 M HCI are needed
to neutralize 50 mL of the base?

2. What is the concentration of acetic acid in vinegar when 32.5 mL of 0.56 M NaOH are
required to neutralize 15 mL of vinegar?

3. What is the concentration of NH; in household ammonia when 48.25 mL of 0.525 M
HCI are needed to neutralize 22.0 mL of the ammonia solution?

4. What is the concentration of an H,SO, solution when 23 mL of 0.15 M KOH are needed
to neutralize 15 mL of the acid?

5. A 5.0 g tablet of Mg(OH), neutralizes 450 mL of HCl acid. What is the molarity of the
HCI acid?

6. What mass of Ca(OH), can be neutralized by 23 mL of 0.25 M HNO;?
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